

Quote #	Quote Date
1691.5-12	5/12/2015

(Quote valid for 30 days)

TO:

Name: Ivan King

Company: The City of Columbus Ohio / DOT

Address: 1601 Arlingate

Address: Columbus, Ohio 43229

Phone: Fax:

Email: ikking@columbus.gov

FROM:

Name: Patrick DeZellar Company: AdvizeX Technologies Address: 1103 Schrock Rd St 100 Address: Columbus, Ohio 43229

Phone: 614.580.2494

Fax:

Email: pdezellar@advizex.com

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions as	Point of Origin
specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED
	VNX5700 . SN# 1691			
VNX6GSDAE15F	VNX 15X3.5 IN 6GB SAS EXP DAE-FLD INST	3	\$2,995.92	\$8,987.76
VX-VS15-600U	VNX 600G 15K UPG DRV-15X3.5IN DAE/DPE	20	\$1,591.40	\$31,828.00
VX-VS07-020U	VNX 2TB NL SAS UPG DRV-15X3.5IN DAE/DPE	22	\$1,230.05	\$27,061.10
456-104-241	APPSYNC UPG FOR APP PROTECTION SUITE =IC	1	\$0.00	\$0.00
PS-BAS-UPDAEB	STANDARD DAE/DISK UPGRADE QUICKSTAR	1	\$1,589.50	\$1,589.50
PS-BAS-UPDAE	STANDARD DAE/DISK UPGRADE MODULE	2	\$306.00	\$612.00
PS-BAS-UPBASE	REQD UNIFIED STOR UPGRADE BASE	1	\$1,674.50	\$1,674.50
M-PRESW-001	PREMIUM SOFTWARE SUPPORT	1	\$300.16	\$300.16
M-PRESW-011	PREMIUM SOFTWARE SUPPORT - PLATFORM/ELM	1	\$0.00	\$0.00
VNXOECAPTBU	VNX OE CAP TIER/TB FOR VNX5500/5700/7500	44	\$224.00	\$9,856.00
VNXOEPERFTBU	VNX OE PERF TIER/TB FOR VNX55/57/75-UPG	12	\$610.96	\$7,331.52
	Sub-Total			\$89,241

TOTAL: \$89,241

Notes:

Unless reflected above the quotation total does not include applicable sales tax and shipping charges. Payment terms are Net 30 unless otherwise agreed to in writing. We do not accept credit cards.

AdvizeX Technologies may assign without notice all or part of the payments together with all the rights of an unpaid seller but without the assignee's assumption of seller's obligations under this order. AdvizeX Technologies is an equal opportunity employer dedicated to affirmative action and workforce diversity. Payment terms are Net 30, Shipping terms are FOB Origin, and cannot be superseded by any other terms, implied or expressed in any other agreement or purchase order unless otherwise agreed to in writing by AdvizeX.

Please read this Quotation carefully. The terms and conditions set forth on this form constitute the entire agreement between seller and buyer. Seller will not be bound by any terms of buyer's order that are inconsistent with the terms



Quote #	Quote Date
1691.5-12	5/12/2015

(Quote valid for 30 days)

TO:

Name: Ivan King

Company: The City of Columbus Ohio / DOT

Address: 1601 Arlingate

Address: Columbus, Ohio 43229

Phone: Fax:

Email: ikking@columbus.gov

FROM:

Name: Patrick DeZellar
Company: AdvizeX Technologies
Address: 1103 Schrock Rd St 100
Address: Columbus, Ohio 43229

Phone: 614.580.2494

Fax:

Email: pdezellar@advizex.com

Terms & Conditions	F.O.B.
Acceptance of this quotation includes acceptance of all Terms & Conditions as	Point of Origin
specified in this quotation.	

ITEM	DESCRIPTION	QTY	UNIT PRICE	EXTENDED

herein. Further, the terms set forth in this form supersede all other terms in any subsequent agreement or purchase order. Acceptance of these terms may be made (1) by written acceptance or (2) by accepting delivery of any good described on this form or (3) raising an order against this quote. This Quotation shall remain firm for 30 days from the date above unless modified in writing by AdvizeX Technologies, LLC prior to our acceptance of your order.

This Quotation and any order placed as a result bereaf shall be subject exclusively to the Terms and Conditions berein.

This Quotation and any order placed as a result hereof shall be subject exclusively to the Terms and Conditions herein. So long as part of the payment due is outstanding, AdvizeX Technologies, LLC shall retain a security interest in any product or software that is part of the system. The customer agrees to execute any documents which may be necessary or appropriate to protect AdvizeX Technologies, LLC security interest in the system at AdvizeX Technologies, LLC request. Any contract resulting from this Quotation must be signed by a duly authorized representative of AdvizeX Technologies, LLC. Any additions, modifications or waivers of any of the Terms and Conditions contained herein or on the attached Agreements shall only be effective if in writing and agreed to by an authorized representative of AdvizeX Technologies, LLC. AdvizeX Technologies, LLC disclaims all implied warranties, including all warranties of merchant ability and all warranties of fitness for a particular purpose. AdvizeX Technologies, LLC shall not be liable for incidental, special or